Nordson® 'Nordson Corporation TECHNICAL puBLIcATION 16—20-1
Finishing Equipment Division. Amherst, Ohio 44001

SUPERSEDES 10/17/75 ISSUED 7/85
16" WHEEL DOLLY #720 220

FOR NMORDSOMN MODEL 180C MOUNTING

Figure 1
SPECIFICATIONS
Height 50" (127 cm)
Width 22n { 56 cm)
Depth 2" { 51 cm)
Wheel Height 16" ([ 40 cm)

Key Part No. Description Req'd.
- 720 220 Dolly Assembly, Complete 1
1 720 221 . Frame Assembly, Dolly 1
2 720 227 . . Bracket, Vitalizer Unit 1
3 939 077 . . Clamp, Conduit 2
4 981 214 . « Screw, 1/4-20 x 3/4 2
5 983 140 . « Lockwasher, 1/4 2
6 981 347 . . Screw, Fil. Hd., 5/16-18 x 1/2 5
7 983 150 . » Lockwasher, 5/16 [
8 901 606 . Wheel, 16-Inch, w/Tire 2
9 901 575 . Grip, Handle 2
10 985 001 . Pin, Cotter, 1/8 x 1 4
11 983 0, . Washer, 13/16 x 1-1/2 n
NS 244 770 . Retainer Vitalizer 1

© HORDSONM CORPORATION 1885

3 USA &)l Rights Reserved



